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CrosswordRetail • Norm Feuti (Sample)

For Better or Worse • Lynn Johnston

Beetle Bailey • Mort Walker

Zits • Jim Borgman & Jerry Scott

Hagar the Horrible • Chris Browne

Sally Forth • Greg Howard

Garfield • Jim Davis

Blondie • Chic Young

Cryptoquip

Family Circus • Bill Keane

Baby Blues • Rick Kirkman & Jerry Scott (Sample)

  The One and Only Way
  To play good bridge, certain good habits have to be

developed. One of the most important of these is to count
winners when playing a notrump contract.

Consider declarer’s approach to this deal. He won the
spade lead with dummy’s queen and led a club, taking
East’s queen with the ace. South then conceded a club to
West’s king, and West returned a second spade to
dummy’s ace.

Although the clubs were now established, declarer had
only eight tricks he could cash — four clubs, two spades
and two hearts. When he eventually led a diamond, East
took the ace and returned a spade to chalk up a one-trick
set.

 When South’s line of play is analyzed, it becomes clear
that his approach could never have succeeded in making
the contract. He had to lose a club and a diamond before
he could score nine tricks, and since he also had to lose at
least three spades after surrendering the lead twice, he
was bound to fail.

If declarer recognizes this problem at trick one, he
should see the merit in leading a low diamond from
dummy at trick two. In the actual case, if East goes up
with the ace, declarer acquires four diamond tricks and
easily makes the contract. So let’s say East plays the nine
and South’s king wins the trick.

 Having “stolen” a diamond trick, declarer can now
play the ace and another club. West wins and returns a
spade to establish the suit, but his cause is already lost
since South now has nine tricks consisting of four clubs,
a diamond, two hearts and two spades.

Of course, if West happens to have the ace of diamonds,
this line of play fails. But leading a diamond at trick two
at least offers a reasonable chance for the contract, while
tackling clubs first offers no chance at all.

 You are South, both sides vulnerable, in each of the
following four hands. What would you bid at the point
where the question mark appears?

   1. S AQ H AKQJ863 D Q942 C —
   South West North East
   1 H Pass 2 D Pass
   ?
   2. S 94 H K83  D KJ85 C QJ92
   North East South West
   1 NT 2 D    ?
   3. S AQJ4 H 62 D Q3 C AQ972
   North East South West
   1 H Pass 2 C Pass
   2 H Pass 2 S Pass
   3 H Pass    ?
   4. S AK983 H KQ62 D Q8 C A5
   South West North East
   1 S Pass 2 D Pass
   2 H Pass 4 H Pass
   ?

1. Five notrump. This is the “grand slam force,” com-
pelling your partner to bid seven diamonds if he has two
of the three top trump honors (diamonds are treated as
trumps in this sequence). If partner has only one top
honor, he responds six diamonds. In either case, you plan
to play the hand in six or seven hearts after partner clari-
fies his diamond holding.

2. Double. East will probably go down 800 or 1,100,
and you    shouldn’t let him off the hook by bidding three
notrump instead. You don’t often get a chance to extract
such a big penalty at the two-level, and it would be fool-
ish to let the opportunity pass you by.

  3. Four hearts. You have a very sound opening bid
facing partner’s opening bid, which means there’s al-
most certainly a game somewhere. With partner unable
to support either clubs or spades, and apparently unwill-
ing or unable to play notrump, there is no other choice
but to undertake game in hearts. Partner might have any
of these three hands:

   S K73 H AKJ983 D J6 C 86
   S 986 H KQJ7543 D A8 C 10
   S K5 H AQ98754 D K7 C 63

 and you would surely want to be in four hearts on each
of them.

 4. Four notrump. Partner has jumped to four hearts
without knowing you have significantly more than an
opening bid. You would have bid the same way with-
out, say, the ace of clubs and queen of diamonds. These
two treasures are almost surely worth two extra tricks,
perhaps even more, so a slam is very likely. Even if part-
ner responds five diamonds, showing only one ace, you
should still bid six hearts.


